D V149 cm @ V150 cm

@) ViFT em
@ 152 cm ® V153 cm

~&B

BC = V192 - 92 = V28 x 10 = 2V70( cm)
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o Il 4] Azt nE gE A
0|1, DE = 5, EF = 2 & uj, BC ¢] do]=? %
Pt
E, G
2
“F
B

OV @Vl 042 @ v G

AE=ED-EF 0|22
AE=5-2=3 0|t}
uteba] BC = V32 1+ 52 = V0 + 25 = V34 o]t}
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Qmolth. 4 B ol ARE EWsto] B OC £ #AA B4 OB 9| &

A9 A 74 FHe AA S Fotofet.
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16. the 2T Zo] ¥ W AB, AC 9
Zol7k d0em 9 oI5 WAZHE ABC
o wolg ojystel stelel. (d,
sin 20 ° = 0.3420, cos20° = 0.9397)
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= = x 1600 x cos (90° - 70°)

=3 X 1600 X cos 20 °
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19. sin(2x+10°) =
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A mf, tan 6x ©] FHS Fotolat, (T 0° < x < 40°
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sin(2x + 10°) = 3 2x + 10° = 30°

2x =20° , x = 10°
. tan 6x = tan 60° = V3
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20. o2 A LABC = 90°, /CAB =60° %], AC=CD=2¢%
o], tan 15° 9] ZH-&?
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/CAB = 60° |22 /ACB = 30°

_ 1
AACD £ 0|5 8470 B2 /ODA = £ X 30° = 15°

AABC oA
AB = ACcos60° =1, BC = ACsin60° = V3 0|22

1
tan 15° = tanD = =2-13
2+ V3
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22. x=45°Y o], sinx, cosx, tanx2 HAE v Sto]et.
=
H -

[> ®EH. sinx=cosx < tanx

2
sin45° = \/7_

, cos4h5° = ‘/75, tan45° =1

sin x = cos x < tan x




23. 0°<A<45° 2 0, \/(tanA + 1)2 + /(tan 60° — tan A)? & 7rHs]

shel?
®1+§ @ 1+ V2 ® 1+2V2
@1+ 3 ®14+20

3

B ~

0°<A<45° 0|22 ) <tanA <1

V(tan A +1)? + \/(tan 60° — tan A)® = tan A + 1+ tan 60° -
tanA =1+ tan60° =1+ V3




24. tan(2A-30°) = V3 & W, V2(sin A + cos A) - 2 9] Zt-Z oozt
(T, 0° <A <90°)
| =

> Het: o

B ~

tan 60° = V3 ©]|B.Z 2A — 30° = 60°, A = 45° o|t}, WetA

2 2
sin45°+cos45°:£+£= V20olBEZ2 V2xV2-2=0
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25. the L ol gatol
(tan 44° + cos 46 ° — 2sin 45 °) x 10000 2] 4f= oto=t,

Zte sin cos tan

44° 0.6947 0.7193 0.9657
45° 0,7071 0,7071 1,0000
46° 0,7193 0,6947 1,0355

D 246 @ 967 ® 1760 @2462 ® 3240

B

tan 44 ° = 0.9657
cos46° = 0.6947

sin45° = 0.7071

. (tan44° + cos 46 ° — 2sin 45 °) x 10000

= {0.9657 + 0.6947 — (2 x 0.7071) } x 10000
= (1.6604 — 1.4142) x 10000 = 2462




